

06/22/2020

Page 1 of 1

Vendor Ranking

Letting: 08200609 June 09, 2020 02:30 PM **Call Order:** 004 **Contract:** E8S59-R0

District: Turnpike Counties: LAKE, ORANGE, Fed Aid No: N/A

Contract Time: 365 CALENDAR DAYS

OSCEOLA, SEMINOLE, Project(s): 44734827201 (*)

Contract Desc: BRIDGE DECK STRIPING - ZONE 3

Rank	v Vendor	Bid Type	Bid Status	Total Bid	Percent Of Low Bid
1	ACME BARRICADES LC	Responsive	Winning bid	\$510,900.00	100.00% Intent to AWA
2	OGLESBY CONSTRUCTION, INC.	Responsive	Non-Winning Bid	\$538,600.00	105.42%
3	ROGAR MANAGEMENT & CONSULTING OF FLORIDA LLC	Responsive	Non-Winning Bid	\$597,839.84	117.02%
4	MCSHEA CONTRACTING, LLC	Responsive	Non-Winning Bid	\$675,500.00	132.22%

NOTE: Failure to file a protest within the time prescribed in section 120.57(3), Florida Statutes, or failure to post the bond or other security required by law within the time allowed for filing a bond shall constitute a waiver of proceedings under chapter 120, Florida Statutes.

POSTING DATE AND TIME: JUNE 23, 2020 AT 4:00 PM





Tabulation of Bids

Page 1 of 4

Letting: 08200609 June 09, 2020 **Call Order:** 004 **Contract:** E8S59-R0

District: Turnpike Counties: LAKE, ORANGE, Fed Aid No: N/A

Contract Time: 365 CALENDAR DAYS

OSCEOLA, SEMINOLE, Project(s): 44734827201 (*)

Contract Descr: BRIDGE DECK STRIPING - ZONE 3 SUMTER, TURNPIKE

The work specified in this contract consists of providing all labor, materials, equipment and incidentals necessary to remove existing pavement markings and install permanent tape markings on concrete bridge decks at various locations on the Southern Connector Extension (SR 417), Milepost (MP) 0.0 to 5.5, Seminole Expressway (SR 417), MP 38.0 to 55.0, Florida's Turnpike (SR91), MP 200.0 to 309.0.

Prior to beginning work under this Contract, the Contractor shall submit to the Engineer for approval, two copies of the Contractor's proposed plan and methods for performing the work, including a listing of equipment and personnel anticipated for use.

The Contractor shall perform all work during day hours in accordance with the Turnpike Lane Closure Policy.

The quantities shown on the Bid Price Proposal are approximate and only represent estimated planned requirements based on historical or specific needs.

Use products listed on the Department's Approved Product List (APL).

No U-turns shall be permitted as a condition of this Contract, except at Service Plazas.

NO PRE-BID CONFERENCE WILL BE HELD FOR THIS PROJECT.

CONTRACTOR EXPERIENCE DOCUMENTATION: Expertise and Experience is required in the performance of Pavement Markings. The Experience in Pavement Markings form (850-070-06) must be filled out and submitted with the bid to be reviewed by the Department. If a Contractor is presently prequalified with the Department in pavement marking, it is not necessary to submit the form.

Line No / Item ID Alternate Quantity Item Description Units	(1) ACME BAR	RRICADES LC	(2) OGL CONSTRUC		` '	ANAGEMENT & G OF FLORIDA
() indicates item is bid as Lump Sum	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	LC Ext Amount
SECTION: 0001 (PAVEMENT	STRIPING (LARGE	MACHINE) (LM				
0005 0102 14 260.00 TRAFFIC CONTROL OFFICER HI		16,900.00	65.00000	16,900.00	88.00000	22,880.00
0010 0711 17 1 51,000.00 THERMOPLASTIC, REMOVE EXISTING S THERMOPLASTIC PAVEMENT MARKINGS- SURFACE TO REMAIN		153,000.00	1.50000	76,500.00	2.68000	136,680.00





Tabulation of Bids

Page 2 of 4

Letting	j : 082	00609 Ji	une 09, 2020	Cal	l Order: 004		Contract:	E8S59-R0	
	No / Item ID Description	Alternate	Quantity Units	(1) ACME BAR	RICADES LC	(2) OGL CONSTRUC		CONSULTING	ANAGEMENT & G OF FLORIDA
	icates item is bid a	s Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	LC Ext Amount
	SECTION: 0001 (PAVEMENT STRIPING (LARGE MACHINE) (LM								
	0713103101 NENT TAPE, WH NCRETE BRIDG		4.300 S" GM	25,000.00000	107,500.00	35,000.00000	150,500.00	31,525.40000	135,559.22
	0713103131 NENT TAPE, WH DTTED, 6" FOR CES		7.000 GM	9,000.00000	63,000.00	10,300.00000	72,100.00	11,940.10000	83,580.70
	0713103201 NENT TAPE, YE NCRETE BRIDO	•	4.300 , 6" GM	25,000.00000	107,500.00	35,000.00000	150,500.00	31,525.40000	135,559.22
	0713103331 NENT TAPE, BL DTTED, 6" FOR CES		7.000 GM	9,000.00000	63,000.00	10,300.00000	72,100.00	11,940.10000	83,580.70
000	01 PAVEMENT S (LARGE MACH		ction Totals:		\$510,900.00 [°]		\$538,600.00 ¹		\$597,839.84
	(Contract Gra	nd Totals:		\$510,900.00		\$538,600.00		597,839.84





Tabulation of Bids

Page 3 of 4

Letting	g: 082006	609 Jun	e 09, 2020	Cal	l Order: 004		Contract:	E8S59-R0	
	No / Item ID Description	Alternate	Quantity Units	(4) MCSHEA CO					
() ind	icates item is bid as L	ump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
	SECTION: 000	1 (PA	AVEMENT ST	TRIPING (LARGE	MACHINE) (LM				
0005 TRAFFIO	0102 14 C CONTROL OFFIC	CER	260.000 HR	75.00000	19,500.00				
THERM	0711 17 1 OPLASTIC, REMOV OPLASTIC PAVEMIGS- SURFACE TO	/E EXISTING ENT	51,000.000 SF	2.00000	102,000.00				
	0713103101 NENT TAPE, WHIT NOCRETE BRIDGES		4.300 GM	40,000.00000	172,000.00				
	0713103131 NENT TAPE, WHIT DTTED, 6" FOR CC CES		7.000 GM	15,000.00000	105,000.00				
	0713103201 NENT TAPE, YELLO NCRETE BRIDGES		4.300 5" GM	40,000.00000	172,000.00				
	0713103331 NENT TAPE, BLAC DTTED, 6" FOR CC CES		7.000 GM	15,000.00000	105,000.00				
000	1 PAVEMENT STR		on Totals:		\$675,500.00				

0001 PAVEMENT STRIPING Section Totals: (LARGE MACHINE) (LM)

Contract	Grand	Totals
Contract	Orania	i Otais



06/22/2020

Tabulation of Bids

Page 4 of 4

Letting: 08200609

June 09, 2020

Call Order: 004

Contract:

E8S59-R0

NOTE: Failure to file a protest within the time prescribed in section 120.57(3), Florida Statutes, or failure to post the bond or other security required by law within the time allowed for filing a bond shall constitute a waiver of proceedings under chapter 120, Florida Statutes.